
 

 

Answer on Question #57460 – Math – Statistics and Probability 

Question 

 A production process is considered in control if no more than 6% of the items 

produced are defective. Samples of size 300 are used for the inspection process. 

 What is the standard error of the population in this case? 

 What is the upper control limit? 

 What is the lower control limit? 

 

Solution 

Standard error  𝑺𝑬 = √
𝒑(𝟏−𝒑)

𝒏
= √

𝟎.𝟎𝟔∗𝟎.𝟗𝟒

𝟑𝟎𝟎
≈ 𝟎. 𝟎𝟏𝟑𝟕. 

Upper control limit  𝑼𝑪𝑳 = 𝒑 + 𝟑𝑺𝑬 = 𝟎. 𝟎𝟔 + 𝟑 ∗ 𝟎. 𝟎𝟏𝟑𝟕 = 𝟎. 𝟏𝟎𝟏𝟏. 

Lower control limit  𝑳𝑪𝑳 = 𝒑 − 𝟑𝑺𝑬 = 𝟎. 𝟎𝟔 − 𝟑 ∗ 𝟎. 𝟎𝟏𝟑𝟕 = 𝟎. 𝟎𝟏𝟖𝟗. 

Answer: 𝟎. 𝟎𝟏𝟑𝟕;  𝟎. 𝟏𝟎𝟏𝟏;  𝟎. 𝟎𝟏𝟖𝟗. 
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